RETA N RAME FEZHIONZBOH 02

1.

(1)

(3)

(5)

(7)

IROBINZBENT, () OEROK. (SHH17, Afk1730%, B2, CH3 )

1,2,3,4,5, (05 45 %FH) (2) 1,3,5,7,9,11,13, -+ (25 20%&H)

2,4,6,8,10,12,14, -+ (EEH» 5 50%H) (4)  8,11,14,17,20,23, - (D5 35 % H)

15,20, 25,30, 35,40, -+ (Z£H» 5 103 % H) (6)  150,174,198,222,246, - (£ 5 103FH)

100,99, 98,97,96, -+ (ZE» 5 43 %&H) (8)  250,244,238,232,226, - (KE» 5 28 %H)
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2. ROBINZENT, () OFERDE. (SHh14, Afk14 308, Bih24, CHk3 )

(1) 1,2,3,4,5, (s 77HH) (2)  1,3,5,7,9,11,13, - (/Ed5 30 %H)

(3)  2,4,6,8,10,12,14, - (EH» 5 66 FH) (4)  8,11,14,17,20,23,- (D25 42FH)

(5)  15,20,25,30,35,40, - (55 97F&HH) (6)  150,174,198,222,246, - (/E» 5 58 FH)

(7)  100,99,98,97,96, - (D25 60%&FH) (8)  250,244,238,232,226, -+ (5 39%H)
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RETA N HRAME FEHHNONBEOE 02 FEEHESR
1. MOBINZHBWT, () DEEROK. (SHk173, Afh17330%, Bik27, C#k34 )

* FEHH NHBBOH = RIOE + £ x (N —1)
KHERBEDA A=Y BB NMEDZ2S, X (N —1) 1.
(1) 1,2,3,4,5, (E»545%H) (2)  1,3,5,7,9,11,13,--- (K25 20%H)

45 MITE 1, 722
1+2x(20—1) =39

(3)  2,4,6,8,10,12,14, - (EH» 5 50FH) (4)  8,11,14,17,20,23,-- (£EH 5 35%FH)
2 DfEE (WIBH 2, 72 DEEKFITE ) MIIES, # 3
2 x 50 = 100 8+3x(35—1)=110

(5)  15,20,25,30,35,40, - (ZEH»5 103 %FH) (6)  150,174,198,222,246, - (£ 5 103FH)

MTE 15, 75 MIIE 150, 7224
1545 x (103 — 1) = 525 150 + 24 x (103 — 1) = 2598
(7)  100,99,98,97,96, - (D5 437 H) (8)  250,244,238,232,226, - (5 28%H)
#TE 100, 7% —1 FTE 250, 7 — 6
100 — 1 x (43 —1) = 58 250 — 6 x (28 — 1) = 88

© B - BHEAEERLUL 72012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. ROBINZHBWT, () OERDK. (SH172, Afh13308, BFk24, CHh34)

(1) 1,2,3,4,5,: (ED5 17EHH)

77

(3)  2,4,6,8,10,12,14, - (EH» 5 66 FH)

2 DIER (FIIE 2, %2 DEAKIHITHA])
2 X 66 = 132

(5)  15,20,25,30,35,40, - (55 97F&HH)

WITE 15, #%5
154+5x (97 — 1) = 495

(7)  100,99,98,97,96, - (D25 60%&FH)

#TE 100, 7%= —1
100 — x (60 — 1) = 41

(2)

(4)

(6)

(8)

1,3,5,7,9,11,13, - (£H» 5 30%H)

MTE 1, 72
1+2x(30—-1)=59

8,11,14,17,20,23, - (ZEm 5 42 %H)

MIIES, 73
8+3x(42—-1)=131

150,174,198, 222,246, -+ (/D05 58 FH)

FITE 150, 724
150 + 24 x (58 —1) = 1518

250,244, 238,232,226, -+ (£ 5 39%FH)

FJTE 250, 7% — 6
250 — 6 x (39 — 1) = 22
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